b,

’ ?\- ?,J-\- ?/-\- .,»'--.\: = -'L\-I LR AR ¥ \:. F/'-\- -/\- l-(_/'-\- ?/'"- Tt TP Ty .”./\.I ../ R el :,»'~\- = :’..-, :./'~ - ..\-‘ Lt ] i -\:I B o F/'wp . e
GO AN ENENENENENENENENEN ENENENENENENEN ENENENENENENENEN ENENENEN VKNG S

0 oo 5
¢ | Series ZZYY1/5 : ST )
it e 32/5/1

&t Q.P. Code €y
743 . A
g R uq N wlienell Y-UT g i I-YEde % Bj)
z%  RollNo. 7998 W 3Faed ford | S

) Candidates must write the Q.P. Code D;d
() on the title page of the answer-book. &
£y ISISCACELS 49
W SOCIAL SCIENCE &
ot Refa gq : 3 a2 S7fepaT 37 : 80 %
Ik@%“‘:l 0.0
&)  Time allowed : 3 hours Maximum Marks : 80 (3
";_i':) > ¢ N Y I(S#C:)
fh5 e U W A A T 38 WA | 4fgd I8 21 + 1 AHG § 0y

&) o THTF T T T A 3R U MU o e i wWaneff sayfern % gEgs &)
& @ ferd | k)
705 e U S R A TR 39 TAIAH 37T B | _
() o HUAT WA T IW 1@ P& A ¥ Ugel, IW-GiEaert H T &1 HATH ()

"3‘.- '/-‘-
e T YR W Ued % w15 fime @ ww fon mn R 1 yww W
5 @8 T 10.15 S TRl Q@ | 10.15 9 § 10.30 S A% S had TRATT Hl (4]
gg*o UG 3T 30 3EY o R I ITR-YI&IehT T s 3T &1 for@ | @

e 2
é\] e Please check that this question paper contains 21 printed pages +1 Map. %

e Q.P. Code given on the right hand side of the question paper should be 5
written on the title page of the answer-book by the candidate. Z

Ryt

:_a_'\
ACIA

=,
.
[ ]

NORIC)
L=t e
[

Please check that this question paper contains 37 questions. 4
Please write down the serial number of the question in the &

(: answer-book before attempting it. éc)
7 A
.« o 15 minute time has been allotted to read this question paper. The question Of)
;)-C paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., %J
v+ the students will read the question paper only and will not write any %
¢ answer on the answer-book during this period o

. e
-

. r',f"\'_l\ Brrg e n e '/"'\::/"'\g '!/"\\l‘ll/"-.- I_I,r"‘ﬁ .. ’/'\o B A R f"\\I. I,f"\ul u"\l\o "\:II \g FJ"‘\_' r'/"‘1 oy ","' R :/"'\':f/"\- v""\'l L0 ? I'/"Igl y\g :gf"\\ B ""\ ’\{ bl

= NN N N N N N NN S NN N N NN N N OO N EN AN ENEN AN ENENENENENENANL
EiE

32/5/1 1> See P.T.O.



T 4597 :
FHETITIEd 14397 @1 agad Iaer] @ 9igq 3 371 G & qIci7 Bl :

(1)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

(x)

32/5/1

39 J¥7-97 4 37 F97 & | @Yt Fo7 A4 & |

T8 Y9797 B: GUS] 7 [9Tf5id 8- @US &F, &, W, T, FU o |

GUE & — F7 G 1 & 20 T TgIdHecdT J97 & | I Jo7 1 37 H7 & |
GUE & - §97 G 21 @ 24 377 Tg-ITT J97 & | I F97 2 37F T B |
e Y97 %7 I 40 Iisq] 7 Iofaw |

GUS T — F¥T G&IT 25 8 29 a% TY-IF0T Fo7 & | IAF T 3 3HFH B 8 |
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g 99% 974 3F FTE |
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

(x)

32/5/1

This questions paper contains 37 questions. All questions are compulsory.
This question paper comprises six sections — Sections A, B, C, D, E and F.
Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

Section C - Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

Section D — Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

Section E - Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

Section F — Question no. 37 is map-based, carrying 5§ marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)

Which one of the following aspects was the base of the Bretton Woods
system ?

(a)  Military system
(b)  Cultural system
(c) Economic system

(d)  Historical system

Which one of the following books was printed first by Gutenberg ?
(a)  Chapbooks (b) Amar Jivan
(c) Bible (d) Almanac
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FefaRad 9 & fohe- 1928 H SRGI | fohEH STTGIA T Adcdl Tohal ?
(a) e qEEg

(b) SO 8E

(c) g9W dg 9

(d) FEANTS 9eH

HIHEH T ®9ehl & fovg § Fefaiaa § 9 -8 98t 787 8 2
(a) 39! A9 HIISTH o7 |

(b) 3G HrEHE i § wnr foram |

(c) 8 TSI Tehdl ol Jdieh o |

(@) 3Thl S fernt 3R fewel W Afra $i T8 |

& I 1 T HINT |

(a)  IATCepTetE fHatg T — i < T893 Thel W i Il &

(b) T aig FY — Tohel ®EA IcdTGeh DY h AT &

(c)  aTUISTeh HfY — MY TSl w1 ATYH AT | ITAM BT 8
(@) T9or B — yfr & SR g R/ A Il R

JSiia 1&g srfefm ke o] feRam T o ?

(a) 1972
(b) 1978
(c) 1980
(d) 1985

YRGS, TeTE R Afeem HF TS H g W0 & &I AU Hl i@
HIT |

(a) AT =18
(b) @4

(c) At fo=ms
(d) @ Ui

T 1956 ® U@ oifufm g sfices d f=fdfed & @ @H-t wm
anTfereTives =iy <At 8 off 2

(a) dffe (b) Toeht

(¢ &= (d) IS
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Who among the following led the peasant movement in Bardoli in 1928 ?
(a) Baba Ramchandra

(b) Jawaharlal Nehru

(c) Subhash Chandra Bose

(d)  Vallabhbhai Patel

Which one of the following is not true about the female allegory of
France ?

(a)  She was named Marianne.

(b)  She took part in the French Revolution.

(c) She was a symbol of national unity.

(d) Her images were marked on coins and stamps.

Choose the correctly matched pair.

(a)  Primitive subsistence farming — practised on large patches of land
(b)  Intensive subsistence farming — single crop production farming
(c) Commercial farming — use of higher doses of modern inputs

(d)  Plantation farming — practised on small patches of land

When was the Wildlife Protection Act implemented ?

(a) 1972
(b) 1978
(c) 1980
(d) 1985

Mention the main reason for land degradation in states like Jharkhand,
Chhattisgarh and Odisha.

(a)  Over-grazing

(b)  Mining

(c) Over irrigation

(d)  Mineral processing

Which one of the following languages was declared as the official
language of Sri Lanka by an Act passed in 1956 ?

(a) Tamil (b) Sinhala
(¢)  Hindi (d) English

<5 > BeE P.T.O.
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o

fafeiaa 8 9 sia-an ey fag ear 2 for g & st a=fw o= 3 2
I. g % I ATk SRl 1 BT

II. ‘Sl o= fawa &g o 99

III. g 3R Tl o o= fowai =1 oue oo

IV. oidl 3R ITd *rg o I

ICETR I

(a) I, II3ARIV

(b) L IISARIV

(¢ ILIIMIARIV

(d) I, II3MWII

Fr=fiaa et o @ 9w 9d 757 3 2

(a) Efagm g9 o YR | fru S 91 fore) TohR & WewTa &1 UshdT B |

(b) Hioy gH fordt i g9 & IoH i, TR 1 I T 9o hd i
HTATE! 4T 2 |

(c) ORI dfgu arffes Tgert o waea ghfvad w6 & fau s =6t
Tfifer AT | @ & 1 AHR 1 B |

(d) |fEUM % JFER 98 1 FH W TSHIT 9 g 81 fham S Fehat 7 |

3 BT IR (A) 3 HROT (R) o &9 H feu ¢ & | ST el ol qfeu 3R
I o foTu g2t faemed o1 == hifST

SYHIT (A) : A H SgGa I AaEdT 7 |
FRU(R): 391 hRU 3 foh YRa § gmifaes 3 simiferes fafaygamnd @ |

[EEIS I

(a)  SARTHA (A) 3R HROT (R) g1 &1 8 3 SRl (R), HHha= (A) i
g AT HLAT 7 |

(b)  SAfTHA (A) 3T BRI (R) THT T &, T RV (R), AMHeT (A) H
HE! AT TgT Hdl 8 |

(c) AR (A) HEl B, =g SR (R) TAd 7 |

d) fpaE (A) a8, T SRV (R) T 2 |
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Which one of the following options prove that India is a quasi-federal
state ?

L. More powers with Centre

I1. Residuary subjects with Centre

III. Equal subjects with Centre and States
IV.  Currency and Railways with Centre
Options :

(a) I, IIT and IV

(b) I, IIandIV

(c) I1, ITT and IV

(d I, IIandIII

Which one of the following statements is not true ?

(a) The Constitution prohibits discrimination on the grounds of
religion.

(b)  The Constitution allows us to practice, profess and propagate any
religion or not to follow any.

(c) The Constitution of India allows the state to intervene in the
matters of religion in order to ensure equality within religious
communities.

(d) As per the Constitution, religion can never be separated from
politics.

There are two statements marked as Assertion (A) and Reason (R). Read
both the statements and choose the correct option as your answer :

Assertion (A) : India has a multiparty system.

Reason (R): It is because of the social and geographical diversities in
India.

Options :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

71> BeE P.T.O.
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12. T=fafigd 8 9 w9-91 Alhdite TR & o9 4 8l 787 8 ?
(a)  Alehdieh TLhHR 9Y I & |
(b)  <Iohdizer TGhR R Har SR © |
(c)  Alehdifaeh FLHI AN hl TR 2 |
(d) IE TARET o IR 1 JTH & ool @ |
13. difctent # feu U 31femei o1 Ued <hifu 3 w1 A <hl 3N9d Af¥es ™ J1d
SHifce | gl e =1 == HifSu |
Tl <M o ANTRERT <hl ATfEeh ST (F9i H)
MEq
1 11 111 IV A\
%5’ A 10500 9800 9500 10000 10500
%5’ B 6000 6000 6000 6000 50000
IEETR I
(a) 9500 (b) 10000
(¢) 10500 (d) 10060
14. Sfcsm & SEear & fhaq gfasa & wafys 85 ° ©®d 8 2
(a) 40% (b) 80%
(c) 59% (d) 70%

15. var st fob fF=fefaa o & forgent e g wlier 98 51 gehat © | T faehed
ST T HINT
I.  EshMsh SIS O qOi gea
II.  SGYUI-Hth qaTeRyl
III. 3= Ture areft faren
IV. JHNTHG™h &

ooy
(a) I3MIII (b) III3RIV
(¢ I3IRIV (d) I3fRII
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12. Which one of the following is not true about a democratic government ?

(a)  Democratic government is a legitimate government.
(b)  Democratic government is a responsive government.
(c) Democratic government is the people’s own Government.

(d) It does not allow room to correct mistakes.

13. Read the given data in the table and find out the average monthly income

of Country A. Choose the correct option.

Monthly Income of Citizens of Two Countries (in Rupees)
I 11 III v y | Average
Income
Country A | 10500 9800 9500 10000 10500 ?
Country B | 6000 6000 6000 6000 50000
Options :
(a) 9500 (b) 10000
(c) 10500 (d) 10060

14. What percentage of the population of Belgium lives in the Flemish

region ?
(a) 40% (b)  80%
(c) 59% (d 70%

15. Select which among the following cannot be purchased through money.

Choose the correct option :

I. Full protection from infectious diseases
I1. A pollution-free atmosphere

III. High quality education

IV. A luxury home

Options :
(a) TandIII (b) Il and IV
(c) I and IV (d TandII

32/5/1 <9 > BeE
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17.

18.
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Jrer & T2 qifceteht H SThsl hl AT hifGT 3T Y99 1 3T T&l foshed i

EREIETO G
HIF-HT HH HEYUl &k g A1 AN ol TTIhad TR JGH T & ?

TTITHT — 19197 75! § HHEIR (e §)

SR qirted e T
BIPIEED 1 231 232
el 41 74 115
GRIRED 40 88 128
T 82 393 475

(a) ATk &, faeryeRt Tifed &k
(b) falioes ames, fowem Tmfea aoe
(c)  TdITeh &Aeh, faRIveht TiTfed &=
(d) STUfes &=eh, TaRIveRt TEied &

‘A, TG % Teh I a1 i dTel 3TN 1 Th A 3 | 98 Tamed o,
gfesy ffyr, faferean sraeprar, enfe St glaamd uma <t 2 |

‘A TfaRad &=ehl § 9 ToraH SRl o @I 2 ?

(a)  Snfes &mep
(b) NI AT
(c) Hifsd &5k

(d)  3TETiSd &k

Td # Fefalaa et § @ i i) Ae foifud =t g 2
(a) WA sl g TR

(b)  Aifd =
() Tou oo
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Study the data given below in the table and answer the question by

selecting the correct option.

Which is the most important sector that provides maximum jobs to the

people ?

Table — Workers in different sectors (in millions)

Sector Organized | Unorganized Total
Primary 1 231 232
Secondary 41 74 115
Tertiary 40 88 128
Total 82 393 475

(a)  Primary sector, especially organized sector

(b)  Secondary sector, especially organized sector

(c) Tertiary sector, especially organized sector

(d)  Primary sector, especially unorganized sector

‘A’ is a worker in a garment export industry of Jaipur. He gets facilities

like health insurance, provident fund, medical leave, etc.

In which one of the following sectors is ‘A’ working ?

(a)  Primary sector

(b) Non-Governmental sector

(c) Organized sector

(d)  Unorganized sector

Which among the following organisations issues the currency notes in

India ?

(a) The Central Government of India

(b)  The NITI Aayog

(c) The Finance Ministry
(d) The Reserve Bank of India

<lar>
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19. HRAE BgH 98d S IgUSE FE & S YRd H @ d9d hl qe ¥l

3ITICh 3 | I8 Al FHfaRea d @ ferm e <1 @ 2

(a) Hd
(b) @
(¢) e ferem

(d)  EIH TsT SHIEH
20. ‘G AR FER ekl 3 Aeeientor i Uishat i fHfaRed § & fhg aleh
g waiees Ui fRam 7 2
(a) AT o1 do W wgrell <hl 95w
(b) AT % oI qo e YTl hl U5
(c)  GFRI < oIl e Harral i Uge
(d) g % QeI doh deehial TSI shi Tg=

Qs @

(3t eg-3wiiT wed) (4x2=8)

21. 193 WS H JUY & AN IHNERT TARH F1 HL T ? SR HiT | 2
22. ‘HIYeIRehdl Use o foU g 3 | =ame $ifvy | 2
23. (%) ‘ol I TEd & Hofl UG BT 7 || 3 B I gfse i | 2

HAAT
(@) YR Sl & GETEHT BT IGAT HAT THI Y A F=A 2 2 T
hHIfTT | 2
24, TN &k W (U TSR FiAd A o HIs gl 3T AT | 2% 1=2
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19. Cargill Foods, a very large MNC, is the largest producer of edible oil in

India. Which one of these countries does it belong to ?
(a) India

(b)  France

(c) Great Britain

(d)  United States of America

20. In which one of the following ways has ‘information and communication

technology’ stimulated the ‘globalisation’ process the most ?
(a)  Access foods across countries

(b)  Access raw material across countries

(c) Access services across countries

(d)  Access information instantly across countries

SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. Why did Europeans flee to America in the 19! century ? Explain. 2
22. ‘Communalism is harmful for the nation.” Explain. 2
23. (a) ‘Energy saved is energy produced.” Support the statement. 2

OR

(b) Why is there a pressing need to use non-conventional energy

resources ? Explain. 2

24. Suggest any two ways to create more employment in the rural sector. 2Xx1=2

32/5/1 13> BeE P.T.O.
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27.
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29.

30.

31.

32.

33.
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wus 1

(prg.:ﬁ'ﬂ'q 9q) (6x3=15)
(%) YA ATTGEAT W G TSI o feheal o JuTal ol TIC
hINTT, | 3xX1=3
HYAT
(@) 9Rd o &N gRT Uole Uae o1 foiyr fopm wepr foparm mam 2 offe 3ereeon
Tfgd wase T | 3x1=3
TRd H UNIEd T8 o &9 H YUl o Hgwd ohl TI5¢ iU | 3
T H W STl o A<eidd o Al T IS THIEI 1 UM hITIT | 3
“qRETAT chaa <l Tad Tequl foRivar 8 | $8 oM 1 gfee hifs | 3
FETEHT o TMlcd o YR W g &k hH-G 8 2 ITH U YAH hl AT
T | 3
Qs Y
(Srd-swa o) (4x5=20)
(%) geht o T shi gk st samen Hifu | 5
HYAT
(@) W9 H T o =R &l 97 A § B i 1 T TR Tg@qul
qfirept g 2 Tase i | 5
() Tafmio sEem & g8 &1 e Hifv | 5
HAAT

(@) SR YGUU i HH H o foheal did UM hl AT HINT | 5x1=5
(%) YNA ¥ TSHIfdH el o a0 Tohrgl qia HICAT shl AT HiT | 5x1=5

HAAT
(@) TSI gl o fohrdl UId Tg@ AT hl SATEAT HIMT | 5x1=5
(%) RO FFE TR ThNICHS T TohRIcHs et Humar g 2 3ewn Afgd
e HIfu | 5
HAAT
(@) dUYIH ROMYR F1 3 ? T§ TSl Dl bl d R oA d Ushd Hl T
RO AT 3 ? TISe IS | 1+4=5
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SECTION C

(Short Answer Type Questions) (6x3=15)

25. (a) Explain any three effects of Non-Co-operation Movement on the
Indian economy. 3x1=3

OR

(b) How was the Rowlatt Act opposed by the people of India ? Explain
with three examples. 3x1=3

26. Explain the importance of pipelines as a means of transportation in
India. 3

27. Describe the impact of flexibility in the labour laws on the workers in
India. 3

28. ‘Transparency is the most important feature of a democracy.” Support the
statement. 3

29. Which are the two sectors based on the ownership of resources ? Explain

each of them. 3
SECTION D

(Long Answer Type Questions) (4x5=20)

30. (a) Explain the process of unification of Italy. 5
OR

(b)  How did the French Revolution play an important role in creating

the idea of the ‘Nation’ in Europe ? Explain. 5

31. (a) Explain the importance of manufacturing industries. 5
OR

(b)  Explain any five ways to reduce industrial pollution. 5x1=5

32. (a) Explain any five challenges faced by political parties in India. 5x1=5
OR
(b)  Explain any five major functions of the political parties. 5x1=5

33. (a) How does credit play a positive and a negative role ? Explain with

examples. 5
OR
(b)  What is a collateral ? Why is it a main reason to prevent the poor
getting a loan from banks ? Explain. 1+4=5

32/5/1 <15 > BeE P.T.O.
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Qs &

(FE-ATATRE TeT) (3x4=12)

few mu Sgor w1 ved hifSu 3 3Ees fi9 feu u gt o s fafge

g9 H 8] ISl el 1854 | o7t 3T T 9T o1 IHH 3IcUed g4 o |
1862 deh 98l UHI IR el s\ o @ off | 398 94,000 dehferdt 3T 2,150
HC A | I IHF A H 52 el gor @l | 98t < A uget S e 1855
H 3R gell 7 |1 91 1862 H =L g3 | 3T WRd H U™ fiet 1860 % &
H HEAR | Gl | 39 6 W I EHSETE hl Tgall Hhagl U o =1 &
TE | 1874 § Ag™ H oft ygell sharg TR AT et ga 8 |

(34.1) 9g! hueT e WRa § o Tefud <Al T8 2

(34.2) A % Fp=dl 31 Wity JEvmafiE 3 T fafau | é+é=1

(34.3) WA % wgd ¥ YRl TS HHR & MG Y g ATeh R0

a1 ot forg Iohr 39T R g @ 2 T hIfSu |

few u 3gtur w1 yed Fifvie 3 39 =9 few v yvai o s forfau

IT=H Rd H 3chse e HH o Sy-H1Y S 9UgY e i 9 S
g | A W aut ughd oM g % U %k IR H MU FH o7 | IeH T
yrfifesfaehia aftfedfaat 3t 3Heh! S STEvIshal{aR auiSd, Wi, T4 S
R 91¢ T U & 3k dlleh fawfad = fu 9 | 1zl ot gddiw &= |
At A4 T’ AYar ‘Fo (ufvedt fEmer) St arfgend, € o am w1 e
SRt Wdl § fGam & fou aa18 2 | ufvenft vra, foive goreem ° 91 &t
A Uehald i o [0 “Bd I JTT GUGYT T aiiehl A9 o |

(35.1) 9Rd H Wh fopu U fopedll @ WOTd STl TUEY & ekl Wl Seoid
i |

(35.2) TSEAM o AN IS b1 fohT ThR ITINT hid 3 ?

(35.3) IYISTA TGV < fehral &l ATHI hl SUTEAT ShifaT | 2x1=2
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SECTION E
(Case-Based Questions) (3x4=12)

34. Read the given extract and answer the questions that follow :

The first cotton mill in Bombay came up in 1854 and it went into
production two years later. By 1862, four mills were at work with
94,000 spindles and 2,150 looms. Around the same time, jute mills came
up in Bengal, the first being set up in 1855 and another one seven years
later, in 1862. In north India, the Elgin Mill was started in Kanpur in the
1860s, and a year later the first cotton mill of Ahmedabad was set up. By

1874, the first spinning and weaving mill of Madras began production.

(34.1) When was the first cotton mill set up in India ? 1

(34.2) Name any two early industrialists of India. 1 +£ =1

2 2
(34.3) How did many Indian entrepreneurs survive despite tight
economic controls imposed by the British Government ? Explain. 2

35. Read the given extract and answer the questions that follow :

In ancient India, along with the sophisticated hydraulic structures,
there existed an extraordinary tradition of water-harvesting system.
People had an in-depth knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest groundwater, rainwater,
river water and flood water in keeping with the local ecological conditions
and their water needs. In hilly and mountainous regions, people built
diversion channels like the ‘kuls’ and ‘guls’ of Western Himalayas for
agriculture. Rooftop rainwater harvesting was very commonly practised

to store drinking water, particularly in Rajasthan.

(35.1) Mention any two methods of traditional water-harvesting used in

India. 1
(35.2) How do people of Rajasthan utilise rainwater ? 1
(35.3) Explain any two benefits of rainwater harvesting. 2x1=2
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36. feu U Igwur w1 vad Fifvru 3t 3Ees 9 few mu gwi & s fafEw

Sfes @ JUT T Th DRI-AT ¥ 8, §T%hd § gIR gRAWN U9 8 ff B |
ZHehl dHW wE, ey, TN 3R deHHeT ¥ @ § | gHehl WS T
HUg T A 31l B I iEmon it e @ wiw oneft | IR B W F
THTS 1 S gA1Ge 95d Sied & | o i HdA AEMGl 1 59 hrEar e
FATHST 3cATeh | TgaT @ 3R S iatdl 8 | A9 40 B @ Jalf-=n &3 d &d
2 M %9 died | AV TH HEE A T Sidd & | TogE §Eed %
80 HIHE! TN hd dieid @ 3T 20 B AN S TN |

(36.1) Sfeora® <hl AT T=AT 1 Tee iy | 1
(36.2) ST’ 3rec <hl SATEAT shifT | 1
(36.3) Sfeorm Y TWHR 7 AT I THEn Hi fhm TR g foham ? T
HIT | 2
Qis Ad
(ATt vt ST wee) (2+3=5)

37. (%) WRA o QU TC TSI WI-AMFRH (I8 23 W) | & ¥IH A 3R B
w9 ¥ cune U g | FefaRga S B ggREdr ¥ 3= ggeiET 31
3k Hgl ATH 39k HHIT Ei=ht 78 {@reT w fafgu

(i) 9% TIH ST&f M  THeh Hrd el | 1
(i) 98 TIF & AR TS SiE 1 Afewe R, 1920 § gan
o7 | 1

(@) 9Ra & 3 ToHifde Wr-aFas | Fefafaa @ @ 6l &7 &
ST Togl @ guIisy o7 3 AW fafeu 3x1=3

() <& —drg
(i) IR — T sl @H
(iii) O — GiFeaI Fnfireht areh
(iv)  TThIT — TG aeH
32/5/1 %%%




36. Read the given extract and answer the questions that follow :

Belgium is a small country in Europe, smaller in area than the state
of Haryana. It has borders with France, the Netherlands, Germany and
Luxembourg. It has a population of a little over one crore, about half the
population of Haryana. The ethnic composition of this small country is
very complex. Of the country’s total population, 59 per cent lives in the
Flemish region and speaks Dutch language. Another 40 per cent people
live in the Wallonia region and speak French. Remaining one per cent of
the Belgians speak German. In the capital city Brussels, 80 per cent of
the people speak French while 20 per cent are Dutch-speaking.

(36.1) Explain the ethnic composition of Belgium. 1
(36.2) Explain the term ‘ethnic’. 1
(36.3) How did the Belgian Government solve their ethnic problem ?
Explain. 2
SECTION F
(Map Skill Based Question) (2+3=5)

37. (a) Two places A and B have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :
(1) The place where Gandhiji broke the salt law. 1

(ii))  The place where the session of the Indian National Congress
was held in September, 1920. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(1) Tehri — Dam
(ii))  Bokaro — Coal mines
(iii) Pune — Software Technology Park

(iv)  Tuticorin — Sea port
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HETICTRET 97 @acT GIRaTaa qhenferar & g 397 G&37 37 & € T

g1

feb=gT aiar ¥91 & IR G |

(37.1)
(37.2)

(37.3)
(37.4)
(37.5)
(37.6)

39 T w1 9 fIRau gt TS 5 79k g drel |
3| wE w1 Am fafgr SEr oadm wdE g & aftesm

fadqrar, 1920 H g1 o |

39 TST o1 9 faRau &t ¢ad iy feoa 2 |

39 T 1 9 faIfgu S8t Sl s b @ feog @ |
qUl HiFeaRR WIfiehl ek fopg T # oo 2 2

oo

39 TS 1 T TARaT ST&l qiehii

EEAREERE R

5x1=5



Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37. 5x1=5

Answer any five questions.
(37.1) Name the place where Gandhiji broke the salt law.

(37.2) Name the place where the Indian National Congress session was
held in September, 1920.

(37.3) Name the state where Tehri dam is located.
(37.4) Name the state where Bokaro coal mines are located.
(37.5) In which state is the Pune Software Technology Park located ?

(37.6) Name the state where Tuticorin sea port is located.
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